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Exercise 1 :
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Exercise 2 :

1. a.
self-esteem

2kf esteem
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c. Lose confidence on feelings : negative term
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Li love of Loum for the Petrarch

LauraP :" "Petrarch "

Z : inspiration

R, and Rp : reaction functions

Ap [AL]: appeal of Petrarch (Lama) (appeal : physical, social,

intellectual)
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love of Petrarch
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+ to the inspiration

(the more the is inspired

the less be is attracted)

z' : -y 2- + BP
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inspiration
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b. Rp (4) = Pal : the more Lawn loves Petrarch

the mne he loves her

and incisely
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then Laura is scored

and If it fadeaway she

is back to love
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b. Perturbations can be added n'the initial conditions (pulses)

a in stochastic teins ai the equations

Exercise 3 :
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Rabbit sheepgrass
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